Chapter 9 Miscellaneous Problems (page 452)

NOTE

Different techniques of integration may produce

answers that appear to differ from those shown here; if
both are correct, they of course differ only by a constant.
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-Lx(zs +x)V2 —Bafx + 25+ XYV + C
3 arctan & *3{2,: SRS

29 arctan 5 J_ 29(3x — 2)
+ -5111(9.1: - 12x +33)+C

Zarctan(} tan 10) + C

arcsin(} sin x) + C £
—In|ln cos x| + C

1+x)In(l +x)+C ~%

I(x2+ 92 +3lnjx + (x* + 9V + C

%(x — 1)(2x — x*)? + Larcsin(x — 1) + C

Ex +2x—\/_lnx+§

12+ ) +2x+ 2" —tarctan(x + 1)+ C
1 1 sin 20

5tan9+C rz——1+028

tsecdx —dsec®x+ C
#[4(In x)* — 6(In x)* + 6(ln x) — 3] + C
11 + 912 + L[ + (1 + e2)12] + C
Frarcseclix] + gx"3(x* —9)'? + C

In|x| + arctan 2x + C

}(sec x tan x — In|sec x + tan x|) + C
Injx+1-4&3+C

Injx — 1] + In(x? + x + 1)

+x—1D)' =2 +x+ 1)+ C

1 |I —cos 8+ 3sin @

3 nll —cos —3sinf
Yarcsinx)®* + C
1sec?z + Injcos 2] + C
Larctan(e) + C
—3(x? + Yexp(—xF) + C

L4 (1 —x3)¥2
x

—x"larcsin x — In +C

L arcsin x + x(2x? — 1)(1 = x)2 + C
thp2x+1+32x+ 1)1+ C
ihje—1]+C
2o+ 1]+ 3x+ )7 —x+ )3+ C
iln@x*+1)+arctanx —4(x* + )7+ C
0+ 1)¥6x> +4)+C
31+sinx)¥?+C
}lnjsecx +tanx| + C
—2(1 —sing)2 +C
—2x +3arctan }32x + 1)

+i2x + )In* +x+ 1)+ C 5
—x"larctan x + In|x(1 + x?)" 2| + C ,
2+ ) +42+ 1)1+ C
E(x = 6)(x* + 4)'”2. +C

89. 1(1 +sin?x)¥2 4 C
91. J¢*(x sin x — x cos x + cos x) + C
93. —3(x — 1) 2arctan x + L(x? + I)(x — 1)~2
—ix-1)"*+cC
95. 4 arcsin §(3x — 1) — (3 + 6x — 9x?)*2 4 C
97. $cos?0 +cos b + C
99. x arcsecy/x — (x— 1)!/2 4 C
101 in(e? —e™2 + 4)

103. (a) 4, = n(ﬁ —e7 Yl + ¢~ 2112
1+42
+l“‘[{e-**+(1+e‘2")I D
() 2[V2 + In(1 + v2)] ~ 72118

105. 17:\/‘[2\/‘ S+ (\I/j:/:/_)]

approximately 11.66353
109. 3n ~ 3.29699

I11. The value of the integral is =5
113. 4(5/6 — 3/2) + 1 !n( 1+2 ) ~ 3.869983
V3+42

115. The substitution is u = ¢*.
(a) 3+/3 arctan W3+ 28+ C
119, 13 1n 1 + tan 6 — (2 tan §)'/2
1+ tan 6 + (2 tan )'72
—4y/2 arctan(2 cot Y2+ C




